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B E 1T H 240 260 273 533| T » WHHAT5 T H 521 584 586 1,170|%r WT 7 T H 1,285 1,628] 1,462| 3,090|kiAKHET3T H 216 273 260 533
B wE 2T H 387 409 406 815| T » WEHT6 T H 381 400 423 823|%r BT 8 T H 533 653 629 1,282|/h 4,526 5,278|  5,345| 10,623
B #E 3T H 293 350 340 690 &t 9,495 10,656 10,612 21,268|# BT 9 T H 1,017 1,221 1,002 2,313 {%E1TH 95 107 106 213
Ta4ET LT B 149 152 138 2901k = 601 663 700| 1,363\ KJSHT1T H 123 114 111 225| —{RE2T H 318 374 378 752
a5 ET2 T B 91 76 81 157|% W1 T H 315 405 388 793K M2 T H 402 446 450 896| _{R=E3 T H 269 310 325 635
RT3 T H 125 149 172 3218 L WT2 T H 606 696 669 1,365 B 8,887| 10,645 9,716 20,361 {224 T H 127 125 139 264
£ L HT 277 270 278 548(#F |- T3 T H 1,499 1,512 1,423| 2,935y HET1 T H 806 891 872 1,763 " fEE5T H 90 108 116 224
FN HT 423 4217 450 877|H L WT 4 T H 791 812 779 1,591\ 0 BT 2 T H 294 380 333 TR #+ 1 T H 73 78 76 154
fif my 212 214 223 437k M 1 T H 798 922 884 1,806 0 BT 3T H 229 263 266 529|3R 2 T H 125 144 139 283
1k HT 136 119 139 258|k P 2 T H 326 398 396 794 L AT 4T H 742 746 709|  1,455|R H3 T H 126 129 111 240
# K HT 173 211 209 420(k P 3 T H 713 858 884 1, 742({r ;0 BT 5T H 724 727 720 L, 447\8) f& A AT 181 163 196 359
5 T 447 466 510 976|4# e 440 418 495 9133 L W76 T H 1,244 1,347 1,328 2,675 £ 1 T H 59 50 51 101
K o #WE HT 501 543 556|  1,099|4 2 436 520 543 1,063\ 0BT 7 T H 1,005 1,067 1,124 2,191|# 2 T H 71 72 75 147
W, bk oET 315 314 330 644|K B F 1T H 283 331 333 664 (7 ) BT 8 T H 803 876 755 1,631|8 &l 37 62 74 136
N L) 513 553 546| 1,099 A B F2 T H 244 337 342 679 LT 9 T H 942 881 958|  1,839|/h FH 1,571 1,722 1,786 3,508
HiafELT B 209 211 233 444|5 SF 1 T H 513 732 692 1, 424({r 30 ET10°T H 870 781 731 1,512/ M 1T H 379 269 308 577
HiafE2T B 273 298 305 603|4 SF 2 T H 117 161 143 304 i 7,749 7,959 7,796| 15,755|= [ 2 T H 85 97 90 187
HEFfnE3T H 304 371 375 746|145 ¥ 3 T H 344 468 422 890|fE #& 1 T A 182 195 215 410|% [ 3 T A 249 179 181 360
i 5,068| 5,393 5,564 10,957|4 ¢ 4 T H 583 767 726| 1,493|# 1% 2 T H 997| 1,311 1,230 2,541/h@ K1 T H 85 114 87 201
NI = 242 276 286 562(4 F 5 T H 488 639 668 1,307|#% 4% 3 T H 342 427 430 857/ A2 T H 48 57 55 112
B KET2 T H 363 407 398 805 il 9,097| 10,639| 10,487 21,126(4 J# 1 T H 1,356| 1,499 1,509| 3,008|/h@ K3 T H 175 215 212 427
By AET3 T H 207 272 263 535 M1 T H 487 447 530 977|4 # 2 T H 1,012 1,104 1,167 2,271|/NE@K4T H 237 181 243 424
EW1TH 661 659 674 1,333 H HME2 T H 813 782 833 11,6154 # 3 T H 901 996 964| 1,960|/h & A5 T H 78 81 94 175
EW2TH 727 873 870 1, 743(H FH HME3 T H 1,082 1,095 1,085 2,180|4 # 4 T H 0 0 0 0|2 R 1T A 273 187 252 439
EM3TH 387 503 513 1,016 # 4 T H 737 689 675 1,364|4 5 T H 183 56 161 217(8 R 2 T H 248 288 272 560
Ei4T B 799 850 969 1,819\ F ##5 T H 980 947 970 1,917 El 4,973 5,588 5,676 11,264|% R 3 T H 233 186 226 412
Ei5TH 523 535 550 1,085\ & ##6 T H 394 438 393 831]/) &t 53,042| 58,692| 57,757| 116, 449|/) G 2, 090 1,854 2,020 3,874
EileT H 263 224 300 524|fR » i1 T H 417 453 447 900|/m 1 T H 355 424 392 816(p A 1 T H 245 187 268 455
EWM7TH 481 519 461 9804 » fi2 T H 776 682 806 1,488 & 2 T H 415 471 480 951 A2 T H 392 272 296 568
E 8T H 267 305 298 603|ffi [d BT 1 T H 331 409 387 796|0M 3 T H 433 538 521 1,059[pk A 3 T H 105 129 125 254
EioT H 3 4 3 7|6 [ BT 2 T H 717 814 810 1,624 HHET1 T H 217 256 253 509(p A 4 T H 61 55 57 112
KHEE1LTH 311 356 350 706|ffi [d BT 3 T H 574 607 544 1,151 HHET2 T H 282 327 344 671 A5 T H 72 69 72 141
K HEE2T H 345 329 310 639|fifi [d BT 4 T H 465 449 426 875(HE # 1 T H 154 201 194 395(pk A 6 T H 36 44 45 89
K HEE3T H 315 414 376 790 it 7,773 7,812 7,906 15,718|HE 45 2 T H 162 191 210 401\ A7 T B 68 83 77 160
K HEEA4T H 311 379 373 75208 BT 1 T H 1,177 1,420 1,317 2,737 4 3 T H 172 211 203 414|pk A8 T H 99 120 96 216
K HEEST H 305 350 362 71208 BT 2 T H 791 983 820  1,803(#E # 4 T H 232 265 264 529/ 2 1,078 959| 1,036 1,995
T WEETL T B 664 759 753|  1,512|% My 3 T H 1,546 1,716 1,533 3,249|HF M 5 T H 499 621 649 1,270 B PFT A& #H[ 9,265 9,813 10,187 20,000
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